                                                                                                            Name: ____________


Lab 5
Fractions

Equipment: Color pencils, Cuisenaire rods, and Fraction Tiles 

1. Definition of Fractions 
Color the following diagram properly so that the shaded part represents 5/8.
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Referring to the above diagram, 

8 is the number of ___________ pieces that the whole pizza is ________________ ,

5 is the number of such pieces _________________ .
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Equivalent Fractions
Color the following diagrams properly so that the shaded part represents the fraction printed below the diagram.

                         ½                     ½                     ½


                     2/3                       2/3                        2/3
          
From the above examples we see that 
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Generalizing, if n is a non-zero whole number, 
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Comparing Fractions
Color the following diagrams properly so that the shaded part represents the fraction printed below the diagram.
                       ¼                     1/5                    1/6                   1/8

We can see from the above diagrams that when the denominator increases, the whole 

is divided into ______ pieces, but the size of each piece is ________ than before .

Therefore, the relation of the above fractions is 
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4. Fractions with the same denominator
Color the following diagrams appropriately.
                          5/8                                    3/8

The denominators of the above two fractions are __________ , so the pieces are all of 

the same _________ . The one on the left is ________ than the one on the right 

because it has _________ pieces shaded.

We conclude in general that  
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5. Fractions with different denominators.
Color the following diagrams appropriately.
                             3/8                                      2/5


Which fraction has more pieces shaded? _________

Which fraction is made up of larger pieces? ________
Can we say that 
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 because there are more pieces  in 
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 ? ______  Why? ______________________

Conversion to equivalent fractions
   We have to switch to a square pizza because it is difficult to cut a round pizza into so many congruent pieces.

Color the following diagrams properly.

                                                    3/8                                                     2/5

Converting to equivalent fractions with the same denominator means we have to cut the pizzas into smaller pieces, this can be done by cutting along a different direction as indicated below. 
                                                    3/8                                                      2/5

Color the above diagrams properly so that the shaded parts look exactly the same as  those in the previous diagrams. 

Are all the small individual pieces congruent now? ______

How can you make it easier to see that they are really congruent? 

______________________________ .

So, what is the common denominator for 3/8 and 2/5? _______
If we use this common denominator, 
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                        and 
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Which fraction is bigger, 
[image: image19.wmf]3

8

 or  
[image: image20.wmf]5

2

?  ___________
     We conclude that in general, if we want to compare two fractions 
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, we first  need to find a common _____________, and a simple choice for the common 

denominator is _______ .  Once this is done, we have 
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 if (and only if) ____________.


You need to use Cuisenaire rods for questions 6 to 9.


6. For this part, let an orange rod represent the whole number 1. Find two rods of the same color that when joined end to end will match the length of the orange rod.

If an orange rod is equal to 1, ½ is represented by the _________ rod.

In this case, the value of a red rod is ________ and that of a white rod is _______.


7. Now let the Brown rod be 1. In each of the following parts, find a single color-rod that represents the given fractions?

a. ½  = ________________                b. 1/8 =  ______________

c. ¼  = ________________                d. 1 ¼  = ______________

e. 1 1/8  = ______________                 f.  ¾  =  _______________

8. Use Blue as the unit. Find the value of the following rods.
 
a. White = ________       b. Light Green = _________      c. Dark Green = ________






9. Complete the following.
 
a. White = ½ of _________         b. Red = ½ of __________

c. __________ = ½ of Brown      d. _____________ = 1/3 of  Dark Green

e. ¼ of  __________   =  white          f. ¾ of _____________ = Dark Green

Use Fraction Tiles (those with numbers on) for the following problems.


10. Addition of fractions
a) 
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     Find a tile that represents ½.  What color is it? ________

     Find a tile that represents 1/3. Its color is ___________.

     Join these two tiles end to end and then find tiles of another color that can form a chain with the same length as the first two joined together.

     What is the color of the tiles you used? _______

     What fraction does each represent? _________

     How many such tiles do you have to use? ______
     What is the answer to 
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b)  
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     Find tiles that represent 2/5. What color are they? ________

     Find a tile that represents ½ . Its color is ___________.

     Join these tiles end to end and then find tiles of another color that can form a chain with the same length as the first two joined together.

     What is the color of the tiles you used? _______

     What fraction does each tile represent? _________

     How many such tiles do you have to use? _______
     What is the answer to 
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c) 
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     Find a tile that represents ¼ . What color is it? ________

     Find tiles that represent 2/3. Their color is ___________.

     Join these tiles end to end and then find tiles of another color that can form a chain with the same length as the first two joined together.

     What is the color of the tiles you used? _______

     What fraction does each such tile represent? _________

     How many pieces do you have to use? ______
     What is the answer to 
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11. Subtraction of fractions
We will see that it is easier to use the “missing addend” approach for this type of manipulatives.

a) 
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   The answer to this question is the fraction that when added to 1/6 will give us exactly ¼ , and we can find this fraction by the following method.

    Pick a tile that represents ¼ . Its color is ______ .

    Pick another tile that represents 1/6. Its color is _______ .

    Next find a tile that when joined to 1/6 will give the same length as ¼. What is the 

color of this tile? ____________ What fraction does it represent? _________ .
    The answer to 
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b) 
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     The color of the tile that represents 1/2 is ____________ .

     The color of the tiles that represent 2/5 is ____________ .

     Next find a tile that when joined to 2/5 will give the same length as 1/2. What is 

the color of this tile? ________ What fraction does it represent? _________.

     How many such tiles did you use? _______
     The answer to 
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c) 
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     The color of the tiles that represent 3/4 is ____________ .

     The color of the tile(s) that represent 1/3 is ____________ .

     Next find tiles of  that when joined to 1/3 will give the same length as 3/4. What is 

the color of this tile? __________ What fraction does it represent? _________.

     How many such tiles did you use? _______

    The answer to 
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